
PHIẾU ĐÁP ÁN TRẮC NGHIỆM
MÔN KIỂM TRA GIỮA KÌ 2
Mã đề: 132
	
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20

	A
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	B
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	C
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	D
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


	
	21
	22
	23
	24
	25
	26
	27
	28

	A
	
	
	
	
	
	
	
	

	B
	
	
	
	
	
	
	
	

	C
	
	
	
	
	
	
	
	

	D
	
	
	
	
	
	
	
	


ĐÁP ÁN- THANG ĐIỂM (đề 132)

	Câu
	Nội dung
	Điểm

	1
	A= Fscos
[image: image1.wmf]a

= 500J
	1

	2
	
[image: image2.wmf]t

Fs

P

=

= 28125 W
	1

	3
	W = mgh = 0,12J
	0,25

	a
	Wt = mgh1 = 0,05J

Wđ = W-Wt = 0,07J
	0,25

	b
	
[image: image3.wmf]2

4

4

2

mv

W

W

đ

=

=



[image: image4.wmf]s

m

m

W

v

/

6

2

=

=

Þ


	0,5


Mã đề: 209
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Mã đề: 357
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Mã đề: 485
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